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Part -1 (01 -50)

. Choose the correct opposite meaning word for the underlined word.
| didn’t know she was so learned.

A) well read B) mature
C) accomplished D) ignorant

. Choose the option to fill in the correct articles to the sentence.

old, injured man went to police station to file report about his
accident.
A)The, a, an B) An, the, a
Q) An, the, the D) The, an, the
. Fill'in the blank with the correct option.
For some reason, | a change in her attitude.
A) percieved B) preceived
C) perceived D) precieved

. Fill'in the blanks with the correct idioms or phrases in the options.
I've been practicing for months for the dance competition, so I'm hoping to:

A) Hit the ground running B) A rough ride
C) Be a dark horse D) Have a lot on my plate

. Choose the correct option to give a one-word substitution for the given sentence.
The science that deals with the production, control, transmission, reception, and effects of
sound.

A) Sound barrier B) Acoustics
C) Peripheral D) Bystander
. Fill in the blank with an appropriate relative pronoun.
The companies, are under the scanner of investigation will have to prove their
innocence.
A)when B) how
C)who D) that
. Choose the synonym to the given highlighted word.
Pester
A) Funny B) Crazy
C) Sorrowful D) Trouble
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8. is not a punctuation mark.

A)Dash B) Question mark
C) Hashtag D) Period or full point

9. Fill in the blank with the correct option.

During the war, our soldiers will the enemy and secure our land.

A) annilate B) annelate
C) annahilate D) annihilate

10.Choose the correct option showing the proper prefix to the highlighted word given.

Interest
A) Anti-interest B) Disinterest
C) Misinterest D) Pro-interest

11. YR 3R I & S pt A d Wi wpgromargl /

The boundary line between India and Afghanistan is also known:

A)_Q"{'T‘S'W/ Durand Line B)WW/ Radcliffe Line
C) A BT T / McMahon Line D) R b1 JWT / Sir Creek Line

12.fufofad § O -9 RIF YaH M99 §& BT STH-IH 87 /
Which of the following places is the birthplace of Lord Gautam Buddha?
A) ST (UT®) / Lumbini (Nepal)
B) AT (fNER, YRd) / Bodh Gaya (Bihar, India)
C) ARAY (B?Rtla'ﬂ YHRd) / Sarnath (Uttar Pradesh, India)
D)W (B?Rtla"ﬂ HRd) / Kushinagar (Uttar Pradesh, India)

13 NE P O Bl T I B gt et oar gt & foeR feu s €1 /

is a wheat cultivation method where the seeds are scattered in the prepared soil.

A) TR0 fafer / Broadcasting method B) feafoT fafdr / Dibbling method
Q) |3|%1 fafer/ Drilling method D)ﬁ{qﬁﬁl/ Drip method
14.5AR 9y 134 Aict gR1 fadifed qids ersHod sequr o IR B!/

The book ‘Timeless Laxman’ released by our Prime Minister Modi consists of

A) 3R. &. GEHUI D1 FY DTSN / short stories of R. K. Laxman

B) 3R, &. TEHUI B! HIddlSHl / R. K. Laxman's poetry

C) 3R. &. E&QUT%WGW@/ award winning novels of R. K. Laxman

D) fsfSTes wide # 3R, &. ?‘F&QUTa;EFIi:{/ R. K. Laxman'’s cartoon in digital format
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15. TTfec 3fPBIeH RIBR -t HTaTsft & SF Y ARgdl a6 S| o1 HI=IdT <dl 872 /

The Sahitya Akademi Award recognizes writers of outstanding merit in how many

languages?
A)15 B) 20
C)24 D)29

16. FOfoRed o 9 fod o™ 921 & JRIMYS & =0 H ST SI1ar 417 /
Who among the following was known as the founder of Slave Dynasty?
A) 3BTIE I RISl / Ala-ud-din Khilji
B) ATRI®& M H§HG / Nasir-ud-din Mahmud
C) MY Ig-¢ SedRT / Shams-ud-din Iltutmish

D)$dEE U8 / Qutub-ud-din Aibak

17. 9ReRIET B g 9 I it ST ST 8: / Barasingha is also known as:
A)STH / Tiger B) BTt / Elephant
C)@IE[%CR/ Swamp Deer D)?aT/ Lion

18. Uore # fRyd Riy urét &1 U6 WS g1 /

is an Indus Valley site located in Punjab.

A)RTS / Ropar B) BIYS / Lothal
C)dicarsht / Kot Diji D) IRPIAST / Surkotada
19.JioIde TR &1 64 g e fopam ram um? / Project Tiger was formed in which year?
A) 1987 B) 1973
C) 1985 D) 1982

20.YRa o N gate ARG ™M ®: / The second highest civilian honour in India is:

A) HRd ¥d / Bharat Ratna B) Usl YYUT / Padma Bhushan
C) U1 faYNUT / Padma Vibhushan D) Ul &1 / Padma Shri

21. &Y T QR BR 1,20,000 ¥ F VRIGAT § AR IHB! I TR 30,000 IUF T Bl

g1 A 98 PR B 1,80,000 IUY H Sl g, T SUHT BTH U g/
Subodh buys an old car for Rs. 1,20,000 and spends Rs. 30,000 on its repairs. If he sells
the car for Rs. 1,80,000, his gain percent is .

A)20% B) 15%
) 10% D)5%
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22. 3T, WA 3R SN H B AT BT U HHT: 4 : 7 : 8 81 AR WA 3R 31N o} 3y
& o1 &1 SR 12 99 §, l YR 3R WA B 31 & o BT 3R {1 87/
The ratio between the ages of Suresh, Parveen, and Abhishek is 4 : 7 : 8 respectively.
If the difference between the ages of Parveen and Abhishek is 12 years then, what is the
difference between the ages of Suresh and Parveen?

A)43 a¥ /43 years B) 45 g / 45 years
C)46 TN / 46 years D)36 9%/ 36 years
PERCECRTT ? P R TR HI-TT 3&R 3 UM? / Which letter replaces the question mark(?)
? B
K G
AU B)R
Qv D)Y

24 =M 2:3% A ¥ 3 ugd # 9 2 ger fear oy SR g # 2 Sirs fear Sy,
SUId 1: 2 B ST & | TReaft &1 I §: / Two numbers are in the ratio 2: 3. If 2 is
subtracted from the first and 2 is added to the second, the ratio becomes 1 : 2.

The sum of the numbers is:

A)30 B) 28
Q)24 D) 10

25. < < 712 @1 H TSN B U HH 8| daIuR T SIS & Ugad Hil /
The series given below contains a sequence of numbers.
Accordingly identify the INCORRECT combination.
25, 23, 20, 16, 10, 5

A)10 B)5
G20 D) 25

26.97¢ & GHMGR 2 50 B TP Alcgd 99+ WR 2 10 BT 1Y U IT &, A AICgd Bl 4
11?\’1%: / If a shopkeeper gains ¥ 10 by selling a notebook for % 50, then the cost price
of the notebook is:

A)X 60 B)% 30
0zx 20 D)3 40

27. T FAREd PISH5778D6687F TUR WIS BISH7543 B A

foar SITETT? / In a certain code, 57 7 8 is written as 6 6 8 7. How will 7 5 4 3 be written
in the same code?

A)4582 B)g254
08452 D)5842
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28.9f¢7:a: 28:40%,Fﬁamwa?/lf7:a ;228 : 40, then a is equal to:

A)8 B)9
Q)10 D) 11

29. 9 €t 718 T H SEsll &1 UH P § | EGIUR TSd JaoH &t UgdH He | /
The series given below contains a sequence of numbers.
Accordingly identify the INCORRECT combination.
3,6,18,72, 350

A)18 B) 72
Q6 D) 350

30. U Rad & S1F-91 316R TW 82/ What is the missing letter?

L G A ?

@) J D Q

R M G T

U P J W

X S M Z
AN B) I
qQu D)T

31, 35T 3R IR B ST BT AT HHT: 15: 17 €1 6 I8 916, 3T HT 3IATd 9 : 10 811 6
9 §1g I B smnghﬂ’r? / The age of Ranjana and Rakhi are in the ratio of 15: 17,

respectively. After 6 years, the ratio between the ages would be 9 : 10. What will be the
age of Ranjana after 6 years?

A) 34 Tﬂf/ 34 years B) 36 ?ﬂf/ 36 years
C)40 T / 40 years D)30 @ / 30 years

32. T D& B 3 ST BT aoi 43 fHUT, 56 fHUT 3R 66 fobum gof fovam am g 1 Faft
BTN BT 3N T fbd-T 872 /

The body weight of 3 girl students in a class is recorded as 43 kg, 56 kg, and 66 kg.
What is the average body weight of all three girl students?

A) 50 T39I / 50 kg B) 52 fhUT / 52 kg
C) 55 &1/ 55 kg D) 56 311 / 56 kg

33.0% 4 &) T8 | ForH uep ug w71 98 e faded g S SRaa B QR B/ A series
is given with one term missing. Choose the CORRECT option that will complete the series.
LMN, NPP, PSR, ?

A) QRS B) RQT
C) PQR D)RVT
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34.T% ARRFd B T 'TRUCK' B '42794' f&ET ST § 3MR 'BREAK' Y 132584 @l ST B,
I HIS H 'TRACK' &1 T fd5@T SITWT? / In a certain code ‘TRUCK' is written as '4279#'
and '‘BREAK’ is written as '3258#', then how the 'TRACK' is written in that code?

A) 25794 B) 4289#
C) 32794 D) 42584#

35, frgfofad Twemsi & THg &1 Sid 7 F1d Siforg| /

Find the average of the following set of numbers.
93, 17, 75, 45, 95.

A) 64 B) 63
Q)65 D) 66

36. 3USH GUIATST HH & YR W FHfREd sar faer d Uz g (7) & RIM W &1 S{1Em? /
What should come in the place of question mark (?) in the following letter series based

on the English alphabetical order?
JFMAMJI?

A)S B)O
QA D)N

37.fduTU &Wﬁwmﬂﬁml / Find the missing number in the given sequence.
2,12, 36, 80, 150, ?

A) 220 B) 252
Q)212 D) 248
38.faww 7|

oAl ; A Sl ; SIS ; BTt /
Find the ODD one out.
Dog ; Spider ; Fox ; Elephant

A)®IHS! / Fox B) $dT / Dog
C)Hdbs! / Spider D) 814t / Elephant

39. 7S TSAT 368451729 & 3ichl DI SRIE HH H HaRYd foha1 A, Tl foba 3iepl ot fRUfd
A X812 / If the digits in the number 368451729 are arranged in ascending order, the
position of how many digits shall remain the same?

AT / Three B) GId / Five

Q)al/ Two D)U® / One
40. H&RW@QRTWI / Complete the sequence.

W, T,Q,N,?

Al B) K

OH D) G
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41.fawq g1
foer; = fim; wig
Choose the ODD one out.
Father ; Mother ; Friend ; Brother

A)HI / Mother B) fUrdT / Father
C)'J-I'Ig/ Brother D)ﬁﬁ[ / Friend
42. %7 © SOafRUd HIfST|

1.3 2. 7/ded 3. 3REMUT 4. Al B IUGST /
Arrange the sequence.
1. Travel 2. Destination 3. Reservation 4. Availability of seat

A1,23 4 B)2, 4, 3,1
03,412 D)1,4,3,2

43. 914 1 1 & U 21eg] ! YHareyd Hiford| /

Arrange the information in logical manner.
painter / brother / good / my / is

A) Is my brother good painter
B) Painter is good my brother
C) Good painter is my brother
D) My brother is good painter

44,20 11€,1991, ! §UAR USdT 8, 20 A, 1992 B i 7 37 ut? /
On March 20, 1991, Wednesday falls, what was the day on March 20,1992?

A) T®AR / Thursday B) HIT®AR / Tuesday
C) }[ehdR / Friday D) (AR / Saturday

45. 811, faH 3t 91 |1 AFG, I3M1 &1 Sl g | afe fasw, Y2 &1 ufd § @ /Mg, fawa &1

g1/ Diya is the daughter of Vikram. Manav is the son of Reshma.

If Vikram is the husband of Reshma, then Manav is the of Vikram.
A)fqﬂT/ father B) ST / son
C)thFIT / grandson D)l / uncle

46,71 fGU T 61 H T 31&R T0°d | Tod &R B UgdH Pierg| /
In the below sequence, one of the letters is wrong. Identify the mistake.
A CEGJKMO

AC B) M
OK D)J
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47.24 F UFES! BT 3T (GIHGA & I1G &l il dd Aradbied) 71 62 /

What is average of factors of 24 (rounded to two digits after decimal)?

A)7.50 B) 4.28
C)5.00 D) 4.85

48. 5 A 59 o7 ol w16 g paTwIar 82 /

Which day in the calendar is called the Children’s Day?

A) 1 SHa%Y / 1% January B) 15 3T / 15™ August
C) 14 FdsR / 14™ November D) 25 fqdsR / 251" December

49.77¢ 31fHd fiig &1 WIS ©; foig 9 &1 98 8; IR a1 e 1 e g, @ e sifera & forw
UHR YaiUd 82 / If Amit is the brother of Bindu; Bindu is the sister of Chetan; and Chetan
is the father of Seema, how Seema is related to Amit?

A) Hcitsi! / Niece B) S8 / Sister

C) ™l / Mother D) 34idT / Aunt
50. 7Y 6 TTdd TReAT3fl T 3rd HGIEW

The average of the first 6 natural number is

A)35 B) 5.5

Q)25 D)4.5
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Part -1l (51 -150)

51.WRIG (AY) T2 &1 -9 geh guf 724 & o urufie guud= siR TR0 veH &Rdl §
ﬁ?ﬂ?ﬁﬁﬂﬁﬂﬂwmm?{? / Which component of a lathe machine provides

the primary support and alignment for the entire machine and ensures accuracy in

machining?
A)§S /Bed B) C®YCI / Tailstock
C)W / Carriage D)%@Rﬁ?/ Headstock

52. AR AISHIHICR BT ITANT B (ha! a¥gd B! HIUd JHT, Tid R A& 7.5 fireft gt B,
3R @ 13 fEdiom fezarar 81 sifew amg 31 82 / When measuring an object using a

vernier micrometre, the reading on the sleeve is 7.5 mm, and the thimble shows 13
divisions. What is the final measurement?

A)7.53 fadt 7 7.53 mm B) 7.63 fHft / 7.63 mm
C)7.65 it / 7.65 mm D)7.70 fi#t / 7.70 mm

53.f3@ foe & AT A RISA) THY, 3P UexH & foT Tt sunfifd sHIT =T 3mazass ]
A fove 3o RISt au) & MEs Hd IHg [ Tog a1t | faaR &1 7, 3k
%%nma%ﬁumﬁﬁaﬂﬁ%?/wmn grinding a drill bit, it is essential to maintain

the correct geometry for optimal performance. What are the key angles to consider when
grinding a standard twist drill, and how do they affect the drilling process?

A) PG HaTS, S g&rd 3R fou fFafor &) yuifad st g /

Length only, affecting efficiency and chip formation
B) $a® 1Y, Sl Gafdl 3R forg fFafur Y yifad e & /
Diameter only, affecting efficiency and chip formation
C) Haw fiig HI0T, ot gerr 3R fog Fmfor o) yaifad axar 8 /
Point angle only, affecting efficiency and chip formation
D) fo5u, FTaRy 3R fofg wiur, S qarn 3R = o & gwifad a8/

Lip, clearance, and point angles, affecting efficiency and chip formation
54. 4T H g ufshar o1 mufiies Seza g A ¥ e-arg? /
Which of the following is the primary purpose of the puddling process in metallurgy?

A) oy YT STITd d411T / To create alloyed steel
B) 31318 UTg3H 1 I[& BT/ To purify non-ferrous metals
@) e | Pl ol HET delHl / Increase carbon content in steel

D)&ﬂ@ﬁaﬁwaﬁraﬁ%ﬁqﬁmm/ Refine cast iron by removing impurities
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55.fos it Y AfeT BT 1 IR B Y UES $© AaU-AT SR =MeT | afed T IR HA 4
Ugo 9 @ 9 & O fopard &t S A1fRe? / Before starting any welding operation,

certain precautions must be taken. Which of the following actions should be performed
before beginning to weld?

A) ﬁ?ﬁmaﬁ 3eH! / Ignore safety protocols

B) forddt oft U afed™ M HT ITANT / Use any available welding rod

@) Wﬁmmmaﬁ:ﬂ%ﬁ / Start welding without checking equipment
D) SUSHRUT BT &0 B 3R Sao-1aiTe el &l gerd /

Inspect equipment and clear flammable materials

56.RdeT ot B At sraae A € o 35 Wl Fifie BrReRI & =4 § IugiT & fog
IUgad §IC 8, 3R A fAaRIdTE ST &1 Horgcl df ol 9gIit 67/
What are the essential features of rivets that make them suitable for use as permanent
mechanical fasteners, and how do these features enhance the joint's strength?

A) RaTH &1 SRTATA T BT STl 81 Bl 5, oI I TRIHT ST g1 Il & /
Rivets do not require installation tools, making them quick to apply

B)WWW@T@@%% ﬁm@rwwavﬂwﬁrw%/ Rivets are made
from lightweight plastic, reducing overall weight

C) Ry Tl BReR Bld €, o TRevd TS IR 3 ST ¥ g Sf ¥ehal § /
Rivets are temporary fasteners, allowing for easy removal if needed

D) Racq & SATHR MU 3R A arar RR 8T €, S Siis &1 Aeisci! &I 9¢IdT § / Rivets

have a cylindrical shaft and expanding head, which enhances joint strength

57. I TS B3R g I Y o1t &, 5% §exae sorg fSfoiiz Red (1ADS)
SR 2000 40T & =Y & Ay fvar 7o 3, Fufefaa 7 ¥ fg 9m 3 Sreit 0 3 ot
St 82 / Aluminium age hard enabled alloys designated as 2000 series by the
International Alloy Designation System (IADS) is also popularly known by which of the
following names?

A) Tifeay / Magnalium B) SRIGMHA / Duralumin
) RgfA / Silumin D) SR&-TgHIaH / Beryl-aluminium

58. 911 3R TS S TRETHD U] &l a1 & foT frd UBR &1 el H1ed Te Jad

B'Cl'ﬂa?[%? / Which type of plain carbon steel is most suitable for making structural
components like beams and girders?

A) 3R UId / Tool steel B) ﬁHW%WIH/ Low-carbon steel
C) 3 PHTe W / High-carbon steel D) HH HTe- ¥ / Medium-carbon steel
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59. fordft fEomeR o) fAufdr & Feai § fHd SN 3] See &1 997 & & foU dee & IR
# fafoRad § 9 oF O THGRT 316930 82
(i) U Bt ST aTT R
(i) 3TYC 3R 3M3eye T
(iii) el & &9 &g &1 gt
(iv) HR bl YhIR /
For a designer to select a belt for an application from the manufacturer's catalogue,
which of the following information about the belt is required?
(i) Power to be transmitted
(i) The input and output speeds
(iii) The centre distance between the pulleys
(iv) Type of load

A) HIS (i) 3R (jii) 3MTZTH & / Only (i) and (i) are required

B) I (i) 3R (i) 3ATIZTF & / Only (i) and (i) are required

C) HaS (jii) 3MR (iv) ATTZTH €| / Only (iii) and (iv) are required
D) gt &W%I / All are required

60. WIS YR R R-IRNSASTS (oid FEH0g) HR & FAueH & fou feg 71
& FoGH & HIS BT IYANT {1 ST 82 / Which dustbin colour code is utilized for the
disposal of plastic wrappers and non-biodegradable waste?

A) TS HETGH / Red dustbin B) =& $&IGH / Blue dustbin
C) eI pSlald / Green dustbin D)UieT P SIal / Yellow dustbin

61. IR-IIES dTS IH B! o1 § JH-SI6S a1 TP BT SUTNT IR BT &H BTH T 87 /

What is a key advantage of using a three-jaw chuck compared to a four-jaw chuck?

A)WWWWW%/ Provides higher clamping force

B) o9l 3R Ye3g w3 | MM / Quicker and easier to set up

Q) \ﬂ@l%_ BT WA JHESH THT / Allows independent jaw adjustment
D)Bﬁﬂi’ﬂ@?ﬂ%ﬂm JHUN B YR BT / Holds workpieces with higher precision

62. 31 BTH & T , 9 & 4 HH-11 Fa8 31 9uH 61 8 fob T dizR fobedt gumet &
A &4 | feg Waﬁwé—m%? / In the context of mechanical advantage, which of
the following best describes how a washer contributes to the mechanical advantage in a
system?

A) BT 7T Tl C GiTEI;Uf) ﬁaa?n% / Increases applied torque

B) H\“:ﬁ? o9 U1 1 T § / Reduces friction between parts

C) Ga1d HH - & o¥ YR faalkd &dr 8 / Distributes load to reduce pressure
D)‘{Uﬁ NIGED] deldl 8 / Enhances rotational speed
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63.21 YT Wl & Ue A1y JRfed T § Rde A & A Ulthan 71 8, SR 39 ufehar &
M TS SUBRUT 6T BT HT 82/ What is the standard procedure for securely riveting
two metal plates together, and what is the function of each tool involved in this process?

A) YT B! Wl Bl IS, I des BN, 3R R Rde AT / Cut the metal plates, weld them,

and then apply the rivet

B) e Wl | QSGR—IOI TIIg, G% wwé’ GﬁTﬁb_{ﬂa?:’W/ Apply adhesive to bond
plates, clamp them, and then apply the rivet

O wel # 3¢ o3, Racy o 1 3, o I TRF& 3 & forg sieT & / Drill holes in
plates, apply heat to rivets, then hammer them to secure

D)wic! # Bal I WRIEd 3, Rde ST, YT B & g Siaft 3R JY BT IudRT HY, 3R
PIAD SIS BT FRIE0 B3 /

Align holes in plates, insert rivet, use dolly and snap to set, and inspect the rivet joint

64.T% IR RRe™ &1 371 3UTd 4 - 1 81 A $9YC A1 120 rpm 8, Al rpm H 3M13TYE A6 FT
872/A gear system has a velocity ratio of 4 : 1. If the input speed is 120 rpm, what is the
output speed in rpm?

A)30 rpm B) 40 rpm
C)60 rpm D) 80 rpm

65.9f¢ 'm' fHU/HieR & dec SZd B Afad JAMRT R & (6T P BT YRS 19 fea1 S g,
ot B R 21feki TRl & T dee b1 3¥AH a7 (v) Fafofed @ fod g6y gR1 uaH
faT SITAT 82 / I a belt drive of 'm’ kg/meter is given an initial tension of P to transmit
power, then the optimum velocity (v) of the belt for maximum power transmission is
provided by which of the following relationships?

N [P B) _ P
=V 3m 3m
O v=+Pm D)v=3Pm

66. PI-TT YT (IS TTST) SUHIU JMHG: HRT A I3 b 3T IuanT far s g
@T@ﬁ@gﬂ%ﬂm WW%?HTWWW%?/WhiCh lifting appliance is

commonly used for heavy lifting and consists of a chain or rope wound around a drum?
A)BIZE / Hoist B) 1 / Crane
C) BIBIOUE / Forklift D)YS! / Pulley

67.THS (S & o, grmmaa: fora arplt &1 IuanT forar Sirar 872 /

In a trammel, what material is commonly used for the rod?

A)B&He! / Wood B) @I / Plastic
C)XdS / Rubber D) YTd / Metal
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68.U% JOAIDHR ¢h B! $als 3 Hiex 3R YR B 1.5 WX 1 ¢F &1 $o YN &%o il
e § foraT g7 / A cylindrical tank has a height of 3 meters and a base radius of 1.5
meters. What is the total surface area of the tank in square meters?

A)28.3 9T Hiex / 28.3 m? B) 33.0 97 Hiex / 33.0 m?
Q424 T HICI / 42.4 m? D)47.4 T HIeX / 47.4 m?

69. 1 Tt 4T 37Tt TR & f&T S ST § SR 39T SUANT JHgd: T &
JdTe | fohdT STAT 87 / Which metal is known for its excellent machinability and is
commonly used in the production of gauges?

A) T / Steel B) Sl G151/ Pig iron
C)GT"I_CI}[’FﬁET/ Cast iron D)ﬁ?‘cﬁ?@lﬂ/ Wrought iron

70.2f1c #eo & M H JANT iy o are fafs goR & W # 3 01 811 ¥ fRY & 3§
IEOTT ¢ 1 3UPT ST BHeR 1 ¢ 3R I8 fo1 a1y sryaitt & fou Ied Iuged 872 /
Among the various types of stakes used in sheet metal work, the blow horn stake is
particularly versatile. What is its design features, and what specific applications is it best

v
T

A)iﬂgﬁ%%nww/ Flat surface for bending
B) 3R o 3R Rafe & fou B 3R Fd e A/

Short and long tapered horns for forming and riveting
C) faRIY =0 ¥ u1q e & f&T / Exclusively for cutting metal
D) SIUl &1 Ao o fou fesms favar mar / Designed for measuring angles

71, WIS SN & OT THTH BT Aol 961 og 394 AHRId: $H-91 fHYTa=
dcd FreTaT ST 872 / Which alloying element is commonly added to aluminium to
increase its strength for structural applications?

A)SIAT / Zinc B) @& / Copper
C) %@ / Nickel D) SBIHTH / Chromium

72. %8S AIEH IR & o1 | af-aR AZhIHICR BT ITTNT HRA &1 1 BTH 87 /
What is the advantage of using a vernier micrometre over a standard micrometre?
A) R Iﬂ%ﬁ'ﬁﬁﬂ BT IUTRT HIAT S % / Vernier micrometres are easier to use
B) a*ﬁ‘mmsﬁiﬂa CI|§3§!§ AfET aﬁ%/ Vernier micrometres give precise readings
O aﬁh?rrrgﬁtﬂa 3P fedras, Eﬁa%/ Vernier micrometres are more durable

D) IaR ATgHIHIeR ST TKAT § / Vernier micrometres are cheaper to make
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73.Fufefaa & ¥ o1 At fber-Pifc ufshar arsy SHG dob-ie 87 /

Which of the following film-coating processes is a vapour deposition technique?

A) THST FFBTRIT / Wet etching

B) ﬁ'ﬁfﬁ@?ﬁ"'{/ Magnetron sputtering
Q) WW/ Porcelain enamelling
D) YTg 3HTGRUT / Metal cladding

74. 34 3R FSTST (STAR0N) SIVANT & ST JHFa: [ UeR &1 Sfud zfte &1 IanT foaar

SIdT 82 / Which type of coated sheet is commonly used for roofing and cladding
applications?

A) &@lﬂﬁm/ Aluminium
B) Weg WIS / Stainless steel

C) NeaT3ss (Sigd) W& / Galvanized steel
D)fA-wes € / Tin-plated steel

75. SONTIT IR & "eroNy” (Wg--HT) e &1 3 3f 87 /
What does the term "tolerance" refer to in engineering drawings?
A) fordlt yrT & T sl 1 e A/
The acceptable range of dimensions for a part
B) ITHU &1 T IS / The colour code of the material

Q) fafaior & fou smaza® T84 / The time required for manufacturing
D)Wweﬁﬁm / The thickness of the drawing lines

76. 813N o® Hithe I URGe-Talod db died B 30T YfHHT1 82 /
What is the role of a pilot-operated check valve in a hydraulic circuit?
A) RIe T ga1d 91T X1 / To maintain system pressure
B) Udlg &N P A BT / To control the flow direction
C) TS1d BT 81 d% JHUS! (Ufdarg) i AbAT /

Prevent backflow until pressure is applied
D) ngQC%Ir (&Iddrcb) P TIfd &I At &1/ To regulate the speed of actuators

77.77afBa STUTTHTSH 311 SR URTeuT fbg UebR SRl 1 arfdes Siurd Rufadl &
THTA &7 & fafohan -  Teg $3d 87 / In which manner do regular emergency drills
and training help employees respond effectively in real emergencies?

A) 1B T TGP FTHR / Increase job satisfaction

B) JMUTarRUfadl & &H #R&b / Reduce emergencies

C) MRS e & YYR HP / Improve physical fitness
D)WWW / Enhance response skills
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78. 91 99T 1 WTR SR Hgo™ & for, FafeRad # 3 9af o1 swg-aam (1/d)
GWW%?HTEIT%Q? / For a journal bearing to be termed a square bearing, which of the
following should be the length-to-diameter (I/d) ratio of the bearing?

A) (I/d) < 0.5 B) (I/d) <1
QO (/d) =1 D) (I/d) > 1

79.7d-fgo T U B¢ & U AR &1 987 B AT, ¥¢ & MR & fou M g w

? / When selecting a reamer for a pre-drilled hole, what is the general rule for hole size?

A) MR T & GHM THR / Same size as reamer diameter

B) IR T ¥ UeT 981/ Slightly larger than reamer diameter
O3 AT 2fICC',T JIeT/ Slightly smaller than reamer diameter
D) T TR AT § ol DG BT SMHR AGA el Il /

Hole size doesn't matter if the reamer is sharp

80.U% W7 IR-IES IS TP & [UD6! We WR fPY T A o I3 R8I 82 /
What is the purpose of the adjustments made on the back plate of an independent four-
jaw chuck?

A) GE@H%WT%W & fou/To change the jaw length

B) RUS® (Y & Ty WA = & f3T / To align with the spindle
C) TSR 9@ &I YA #34 & foT / To adjust clamping force
D)@ﬁ"ﬁﬂ'ﬁﬁﬁﬁﬁﬁ%ﬁ/h control rotation speed

81. IR AT I3 & ot ST (STo®) BT IUTRT Hd THT, IITYH B Uihal & 1T
W& GARad B & [oU AGAYU HRS FT 8?2 / When using slings to lift heavy

machinery, what is a crucial factor to ensure safety during the lifting process?
A) f&T &1 3 / Sling colour

B) &7 &t FaTs / Sling length

) fT &t gan aﬁvﬁ?"ravw Sling capacity and inspection

IR, Sling brand

82. AT SHGF+1t Ioh! DI BleA & (O fordd TR & AT HT IUART S STl 52 /
Which type of snip is used for cutting tight inside curves?
A)@:df@tﬂ / Straight snips
B) 3HTthdc fAW / Offset snips
C) HUSS Blavsl R / Compound leverage snips
D) ufauz % / Aviation snips

Page 16 of 37




83. Ufdad TSt &1 IUANT Ueh W IR-SFS I TP & [WRAG 3R ey Bl fbg YR
TUIfad &1 82 / How does the use of reversible jaws affect the maintenance and
longevity of an independent four-jaw chuck?

A) SRR 3P IWRETG B TI=IDdT Eﬂ?ﬁ% / Requires more frequent maintenance
B) dhfeuds Tdg UGH o drafg dgrar g /

Extends longevity by providing alternative surfaces

C) UfIRUTT ) HH PR [WRWIT Dl TS ST § /

Simplifies maintenance by reducing replacements

D)a‘“rzrfgu? CAES WHWT@'/ No significant impact on longevity

84. Frafofad & @ o I ufthar & We f6T I a1 YRl (B FUiie & =0 § ST offdl 8)
IR TS Ireht & ot Seft dieest BT Sy 2NfHe BT 8, S a1 dl We Bl S et Ug
B € I1 U dA10d SoaIeRe &l IR # te fAftrg soais garg? /

Which of the following processes involves an application of DC voltage between the parts
to be plated (that is made as a cathode) and an anode material, that is either the metal to
be plated or an inert electrode in the presence of a conductive electrolyte?

A) SOCIWIET (fIggd 3UH) / Electroplating
B)ﬁﬁ:ﬂgﬁri"[ / Galvanizing

C) TAISTSRT (YFRfiaRuN) / Anodizing

D) 3daciod Wi (fAggdd &UA) / Electroless plating

85. Tt faziw v & fou afzR &1 997 axd THd a1y U I IUF SMHR B T0FT Ha

1 S 82 / How is the size of a washer typically calculated when selecting it for a
particular application?

A) U &1 T 3R IRl ot Iﬁ?l'sc / Diameter of the screw and thickness of the material
B) AIXR HT T6<! Y 31K B¢ BT MaRD N /

Outer diameter of the washer and inner diameter of the hole
C) R &HdT 3R Irft Pt a1k / Load capacity and material strength
DEREREISEE] PO a8 / Total length of the fastening assembly

86. ¥R g & a8 Ui fa2iear o1 € ot 3= o g ¥ 3ie7 et 82 /

What is a key characteristic of spur gears that differentiates them from other gears?

A) EI;Uﬁ 3{&] o DIV UR Gid DI HH / Teeth cut at an angle to the axis of rotation

B) TIfdl @1 fazM dIgoH & fow IuanT fasar Sirar 8/ Used to change the direction of motion
C) U 31&f & FHMIAR A1Y &fd / Straight teeth parallel to the axis of rotation

D) TR-JHMIGR ¥Y § AT / Operate non-concurrently
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87. Ui iR We & fou Fafofed & 9 o W wy= a@ T8 82 /

Which of the following is NOT TRUE for aluminium and steel?

A) TegHifan &1 ARy o, W&o 3 i giar gl /

Aluminium has higher specific gravity than steel

B) Tt arol uRfRUfT! & TegHifom, Wi & go1 & dgdR Y& UfoRiY Ueiid HRdl ¢

/ Aluminium exhibits better corrosion resistance than steel in humid conditions

C) TegHi ey &1 S I el T I dgaR gl ] 1 /

Aluminium has better thermal conductivity than steel

D) TegHif e @t HiiesRur &, Wi d Sgar g1 /

Aluminium has better machinability than steel

88.fg UHR FI 2fte UTg 307 Feb HR 3R I Jfdd-T-YR U & ST S 1t 82 /

Which type of sheet metal is known for its lightweight and high strength-to-weight ratio?

A) UId® / Brass
B) GICIW Copper

C) 3gHIT / Aluminium

D) Tea-T3es (GRi1hd) TP / Galvanized steel

89.T% W7 IR-IES TS TP & [UDS! We P RaWd & (ST A Ufhar 182 /

What is a common procedure for maintaining the back plate of an independent four-jaw
chuck?

A) JOR= ST & fou Fafld 9 9 Se8! &1 fadw-1 & /
Regularly lubricate the jaws for smooth operation

B) Sfard TS (Tt & oy TRgor st &1 offg &% 3R 3% dld B /
Check and correct alignment issues for proper mounting

C) Aod &I gTH & [GT THUIBRY UGl ¥ I1H B /

Clean with abrasive materials to remove debris
D) feriTa &1 ep & T THg-THg W) YHIU / Rotate periodically to prevent wear

90. FHTdTeT SR YR AF® RN A V-Se & A B AFSGIGHd (6T ¢ | T8 gHaTd! Udid
8 Z A B, C, D 3R E 5% v-dee & faftra shia-Ja & fou RSy fear man g1 e-Ja=M
Wﬁﬁa%ﬁaﬁ R 8? / The manufacturers and the Bureau of Indian Standards have
standardized the dimensions of the V-belts. There are six basic symbols: Z, A, B, C, D and

E are assigned for different cross-sections of V-belts. What is the pitch width of the E-
section belt?

A)27 /27 mm B) 8.5 fAHt /8.5 mm
O 19 fHt /19 mm D)32 fiaHt /32 mm
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91. SH U Ufeha & THY, IFId =U J ThU H1 T3 faia gdg & fou ufd o ga dud fagait
DI TS T T 8? / During the scraping process, what is the ideal number of contact
points per square inch for a properly scraped bearing surface?

A)S5 - 10%@?%3"?33/ 5 - 10 points per square inch

B) 10 - 20 ﬁguﬁ-{aﬁsa/ 10 - 20 points per square inch
C)20-30 ﬁgcr%aﬁs%r/ 20 - 30 points per square inch
D)30 - 40 ﬁguﬁfaﬁsa/ 30 - 40 points per square inch

92,88 TMR FT HH-TT UM T- U I &¢ & HIegH I Y AN B MR Ifad T
gﬁfﬁﬁmﬁémm% / Which part of a hand reamer is primarily responsible

for guiding it through the hole and ensuring proper alignment?

A)UIISC / Pilot B) BQC / Flute
C)% / Shank D) HicT TS / Cutting edge

93. JR&M 3R &l YARad B & U ST IUSHRUN HT TWRWTT HgAYU! o | I Bl T
AT 72 SR Terad IRl &I S¥aH U & T & fod [ e xavara yutsht &1
UToH A1 I8T? / Welding equipment maintenance is crucial for ensuring safety and
efficiency. What are some key maintenance practices that welders should follow to keep
their welding machines and accessories in optimal condition?

A) IFET IUHRT BT A FIE0T SR TBTs Y, &fcRRd Hao! B o B IR Ifad
HSRUI Y ARad @/ Regularly inspect and clean the welding equipment, check for
damaged cables, and ensure proper storage

B) JURUT B IVRWIA DHde dH! B &d a8 ¢ SiTe AT GRMHT &I &1 /
Only maintain the equipment when it breaks or seems obsolete

C) forddt ot SUG THTS OIS BT YT B / Use any available cleaning solution
D) SUHRT BT ge-Te W &H A ¢ 3R I FHafid Swim & fe & /

Ignore equipment wear and tear and keep it for regular use

94. TR IGNT H TegHif-om &1 Irufiiesd 3T S &1 g1 SRUT 1 87 /

What is the main reason aluminium is favoured in the aerospace industry?

A) SPh¥ Z1fad & 1Y I I / High density with excellent strength

B) 3= oI 3R FAIGIU / High melting point and ductility

C) Toldd asi 3fUrd & 1Y 99 99 / Low density with strong weight ratio
D)H'&‘I'ITUT Uﬁffﬂ, IS dl / Corrosion resistance, conductivity

95.150 fPSH HR DI 10 Hiex B SIS db I & fou fFar T s g & /

The work done to lift a load of 150 kg to a height of 10 meters is:

A) 14,700 & / 14,700 J B) 24,700 S[& / 24,700 J
C) 34,700 S / 34,700 J D) 44,700 [ / 44,700 J
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96. TR T f3ETT STOR, TRIE (@Y) WR AT STHR Bt HI-awgsHf B Udher & 0T fhg
WWWWG’W%? / Which type of chuck is best suited for holding irregularly
shaped workpieces on a lathe as shown in figure?

Aufed 9% /
Magnetic Chuck

A) I T / Collet chuck

B) BR-Sf b / Four-jaw chuck
(@) %ﬁ—GﬁW/ Three-jaw chuck
D)W Ib / Magnetic chuck

97. qEY IS U J T T- AR Tieex & T Ued 1 g, IUT SHHT Y T

T 8? / What are the main components of the most widely used lead-based solder, and
what is its typical melting point?

A)fes 3R qfET, ST 217°C R TGS § / Tin and copper, melting at about 217°C
B) fe=1 MR ¥, 180°C 3R 190°C & o< fUgwd & /

Tin and lead, melting between 180°C and 190°C
C) didl 3R T, ST 900°C R U@ § / Silver and gold, melting at around 900°C
D) RSiep 3R TegrifAam, ST 660°C R T@d & /

Zinc and aluminium, melting at approximately 660°C

98.flc Aed & B H, b1 3R PR & & AT Lo STIRD IJUPII 5 | W D1 UIYHeh
fIRIwaTd 71 §, 3R 9 Iad A=A @bt SrufRufa H o1 &1 SR 37 | 4 Aeg o3d 87 /
In sheet metal work, stakes are essential tools for bending and forming. What are the

primary characteristics of stakes, and how do they facilitate metal shaping in the absence
of advanced machinery?

A) B WP T 94 Bid 8, FoR 3 Beb 3R THTH H MM 81d © / Stakes are made of

plastic, making them lightweight and easy to handle

B) R o1 IUGNT IR =7 F 1q 1 <fie Y 3MTbR H Bble & o fbam S B / Stakes

are used exclusively for cutting metal sheets to size

C) R WId Bt F8TS Bl & Sl U1 P! 81U F 3HR < b oY U 31 SR UG Fall o
/ Stakes are steel anvils that provide a solid base for shaping metal manually

D) ¥ BT ITANT Y& U ¥ Y & HIH &b GRM SATH BT YA & Torg foan Sran & /

Stakes are mainly used for measuring dimensions during metalworking
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99.U% faRAIY ArgehHieR 3R fi-3MHR & TAfAS &1 IUAN FReb by et W 9 WRifiex &t
AT 7 ¥l 82 / Which outside screw thread parameter can be measured using a
special micrometre and V-shaped anvils?

A) &b 98 &1 fUd / Pitch of screw thread

B) &b XS Bl Wl'l:l:cﬁ MY / Minor diameter of screw thread
C) ¥ XS B BT Y / Major diameter of screw thread
D)¥h %S BT YT AN / Effective diameter of screw thread

100. fore uRezg @ g% Tis WS (HSS) €@ ! g&-1 H 31 HIE3S HT @ bl WUfHemdr ot

SITUET? / In what scenario would a solid carbide cutting tool be preferred over a
High-Speed Steel (HSS) tool?

A) S 1S TR Y Ut dhieT / Cutting softer materials at low speeds

B) S@-TTG & AT Pl 3R tlﬁ_{l,?xﬂ'[/ High-speed cutting and precision
C) HTI-YRSH fHT (§) TaT6 / General-purpose turning operations
D)W 1 WIReH A ot A=A/ Machining wood or plastic materials

101. 1S BT HH-T7 o1 8 faggd aRT & SN & fou srfiie Iugad srd 872 /
Which property of copper makes it highly suitable for electrical wiring applications?
A) 9 99 / Low density
B) 3= a1 wH / High tensile strength
C) 3o &R UleRIe / High corrosion resistance
D)3 fdggd A&l / High electrical conductivity

102. o9 SR 352 FIT8? / What is the purpose of a tinman's square?

A) dd d1I1l / To scribe circles

B) 10N &I HIUAT / To measure angles

Q) Jﬂas‘a?rnw / To measure thickness

D) THBIUT &1 fafed BT 3R ST / To mark and check right angles

103. %= BIR & IdIe & fOU DR B9 (@1l He)) Ufshan & g & § &H-91 Hedl 716
3{TazT® &Y 82 / Which of the following raw materials is NOT required in the blast
furnace process for producing pig iron?

A) P / Coke B) B 3% / Iron ore
C) 3egHITH / Aluminium D) AT URR / Limestone
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104.f3a faey faftra SeRY & Iuas €, 3R UL SHTHR BT g9 -1 Hg@yul g1 317y fosdt
fafRIy SrguaiT 3 e I e 3R &1 FHefke & #d € 3R svad uRumH! & g
WWWWWWW%W / Drill bits are available in various sizes, and

selecting the right size is crucial. How do you determine the correct drill size for a
specific application, and what factors should be considered for optimal results?

A) UG 3MEHR Hdd IVAH URUTHI & fST / Available sizes only for optimal results
B) f$® @t M a1t Arht Fhae syaw Ukl & fou /
Material being drilled only for optimal results
C) fg® 729 &1 YR SHae 3yad gRumHl & o /
Type of drill machine only for optimal results
D) & BT HTHR, T 3R ST PR 3¥ad IR & 5T /

Hole size, material, and available sizes for optimal results

105. AfeET BT H, TR BT IUANT UIY: AfeET SUBRUN b F1Y b1 ST g | A foeiadt
3Tff & o AfeET SIReR HT JUTNT IR HT &7 BTH F1 8, faT =0 I xy a1 J18d
A a2/ In welding operations, generators are often used in conjunction with welding
equipment. What is the main advantage of using a welding generator instead of a
standard power supply, particularly in remote or outdoor settings?

A) T8 U& UICE0 Sl dId U HRdl § o fagyd FIe & Wda &9 ¥ Yenferd g Ihdi g /
It provides a portable power source that can operate independently of the electrical
grid

B) Ug URUR® farsios! Syfd &1 qoe & H Hem e e /

It is less expensive as compared to traditional power supplies

C)%W%WW@TWW% / It produces less noise during operation

D)%ﬁw i eErg & &Wﬂﬁ@?ﬂ%/ It requires no maintenance at all

106.%C RIS 3R HUTIS Ftave! I & offa g iR |87 /

What is the main difference between straight snips and compound leverage snips?

A)@jfma%@ﬁ% / Straight snips are larger
B) @Emﬁ &FTW@E%W@?[% / Straight snips have offset handles
O) HUEE Savel ey & H1 YA B SH1a=aHhdl giat & /

Compound leverage snip§ require less effort
D) PSS Blave Ry § eldeR s g 8/

Compound leverage snips have serrated blades

107.5d TP &1 MHGRI B I S 1 [UIH 59 §RT IUD SHR I IHB! URal BT wrdef i
&I 9o & fou Udd Side aefor ufaRiY 82 / Which of the following properties of the
liquid lubricant is an internal frictional resistance offered by a fluid to change its shape
or relative motion of its layers?

A) T (GRS / Viscosity B) G&Td (U3R) / Pressure
C) g (SRIE) / Density D) UATRYdT (FBTRERIC) / Elasticity
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108.1CR BT WS R Jifesd eireye s & I ot &1 efipR Mefd w37 31 7 fafy
T 8? / What is the standard method to determine the size of a pulley with the motor
speed and desired output speed?

A) STSFAT M & AT & YR TR / Based on the diameter of the driving shaft
B) e B HR IR Il &b STYR U / Based on the load and material of the belt
Q) AR Bt Wie 3R Iuarvl &t Wi S0 & YR W /

Based on motor speed and equipment speed ratio

D) HIeR 3 3R eTds (@@ TE0h & ST & SMUR W /

Based on the ratio of motor power to torque

109. HHTS TS TR 3R THS & e & [T ATIH U U IUIRT fHT o 105 sl § 4 T o,
?ﬂﬁ%@@gﬁaﬁrﬂmﬁwmm@?ﬁg?/Cementedjomt is one of the

widely used joints for rubber and leather belts, what percentage strength of the belt
material does the cemented joint possess?

A)80 - 85% do / Up to 80 - 85% B) 20 - 25% d / Up to 20 - 25%
C)40 - 50% d& / Up to 40 - 50% D)30 - 40% do / Up to 30 - 40%

110.71d & BT F GHI WD GCH! b SHeAeR INWU B g & 5T HH-11 Fmior
SUDBRU[ ?IT&I@B'CIQEH%? / Which erection tool is best suited for checking the vertical
alignment of structural components during foundation work?

A)HIER / Crowbar B) ke &a@ / Spirit level
C)Wd did / Plumb bob D)Jd! s3id / Pulley block

111. 150 fireft fir =y a1 wes AR 300 At o oy ares gk AR & 91y AR e @R |
R Reg #1971 GﬂCI'IT‘[EIxIT%? / A gear with a pitch diameter of 150 mm is meshing
with another gear with a pitch diameter of 300 mm. What is the velocity ratio of the
gear system?

A)1:2 B)2:1
01:3 D)3:1

112.F5 & 9 g8 TR iR 721 IR & §a WIfie SfaR ®IF-91 8?2 / Which of the following

is the primary difference between a hand reamer and a machine reamer?

A)%@WW?E\'HTW@HT%/ Hand reamers have a longer body

B) WWWWE&@WW%/ Machine reamers are used manually
C)%@'Wﬁm%@?ﬂ%/ Hand reamers have a square shank
D)ﬂiﬂqwm@faﬁ@ﬁ%/ Machine reamers are made of carbide

113.759 UPR F TR BT ST I HR B 98 &7 H fadRd B 3R gieht o3 aret
It Bt de Bl &fa ¥ g9 & U foar Srar 82 / Which type of washer is commonly

used to distribute the load over a larger area and prevent damage to the surface of the
material being fastened?

A)?ﬁ? GIEIR / Lock washer B) U%_d GIEIRY / Flat washer
C)RBRTARRR / Spring washer D) R&e a1zR / Split washer
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114.2fe Ui S § TS &1 Wil &rf | g? /

What is the primary function of a trammel in sheet metal work?

A)th?l'scm / Measure thickness

B) &S @Y &ﬁ?ﬁﬁﬂ%‘dm / Mark large arcs and circles
Q) %ﬁsﬁ%@ﬁrﬂw / Cut straight lines
D)%r@ar?ramifuﬁsm / Bend metal sheets

115. D FUARUI B (hiAe-3MURd) & IR A FufeRad & 3 o9 1 Hy= I 981

87 / Which of the following statements about chemical conversion coatings (chromate-
based) is NOT TRUE?

A) PTHC BT SRATYRY ¥ ¥ I VRO TRIY UG Bl g1 /
Chromate coatings impart exceptionally high corrosion resistance.

B) ShIHC PIfcT Ue, I TT 3 BIei-dh [hHT & fOT T S8 IRd P =0 H BRI Hat

g1/ Chromate coatings act as a bonding layer for paints, lacquers, or other organic
finishes.

C) OId PIET A fae # el & A spide P fARTY 11 UaM R Gabell &1 /Chromate
coatings can provide specific colours to coats when the coating is in soft condition.

D)Wﬁmmﬁaﬁ?ﬁ?&mﬁ%l / Chromate coatings are sacrificial in nature.
116. TR ah Tdg! ol b g R S HA & FT (T THR T TR Jad TG 82 /

Which type of scraper is best suited for working on internal curved surfaces, such as
bearings?

A) FSC IR (FHIS THW) / Flat scraper
B) % WhHUR / Hook scraper

C) 31¢-S VTR / Half-round scraper
D) BRI W / Triangular scraper
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117. A A XTI ST R §? /
What is the name of the instrument depicted in the figure?

A) “@fﬁﬂﬁﬁ/ Screw pitch gauge

B) &mstcrrnsaﬁiﬂa/ Outside micrometre

O ¥ a—s'rrsaﬁiﬂa/ Screw thread micrometre
D) %&b IS BIR AT / Screw thread caliper gauge

118.91¢ Pla WIe & FAUr H, fIus gu ole & Hla- &1 A1 & HH $HR- & o &I FU I
DI9-It ufrar &Uﬂ]’scﬁl?ﬁ%?/ In manufacturing plain carbon steels, what is the main

process used to reduce carbon content in molten iron?
A) THIFST @murzitaH) / Annealing

B) CHIfT/ Tempering

C) &TeRT @H) / Quenching

D) SIPIaRISIRM (fFAHTERN) / Decarburization

119. Fufofad & ¥ S It S ITAR Ufsha # 41g &1 IS shifdd daaE adb T fhar Srar
8 YT I /a1y a1 @ T ool ¥ 87 fasal ST 82 / Which of the following heat

treatment processes consists of heating a metal to its critical temperature and rapidly
cooling it in water/air or oil?

A)T‘ITqmﬂT‘F[ (Q:m%ﬂ'l) / Annealing B) émﬁ"'[/ Tempering
Q) AT it/ Normalizing D) RMHA @I%ITD / Quenching

120. 3BT TSI SHERA H T g aTeT Tad AT 19+ HIeqH 1 87 /
What is the most common heating medium used in most soldering irons?
A)Wé ¢X / Ceramic Heaters
B) faggd a1u= TfTcH / Electric Heating Elements

Q) T9-=fed AU / Gas-Powered Heating
D) BRUT AT / Induction Heating
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121. 79 & @ D1F-11 GRef IUSHR faggd gonfeat #f y-aret 3 qRef & fou fEeme fear mar
87 / Which of the following safety devices is designed to protect against ground faults
in electrical systems?

A) RS / Fuse
B) Hﬁm/ Surge Protector
C) Tfdhe §BR / Circuit Breaker

D) T3S WieT Wlhe $EER (GFCI) / Ground Fault Circuit Interrupter (GFCI)

122 7if3e oI H dIRR BT SUTIT Hd JHY FifAh STH U R & 6T Framaa: fd fafd
T IUTNT T ST 82 / Which method is commonly used to obtain mechanical
advantage when using washers in mechanical assemblies?

A) Wﬁﬂ'@ﬂw / Increase the number of washers

B) 3ASI-3{AT HICTg & aIZR BT START HAT / Use washers of varying thickness
@) a% T 10T AIRR T AT / Employ a larger diameter washer

D) faftrsr gerf & arzR o1 IUTRT BT / Use washers of different materials

123. %% BIg & SMIG & THI SORE B (ATl Hel) T AT TR fHeM &1 T8 3e3d |1
87 / What is the main purpose of adding limestone to the blast furnace during pig iron
production?

A) 3URITI® Toic & TU H B dRAT / Act as reducing agent

B) mﬁﬁ?ﬂ?/ Improve hardness

Q) &Iﬂ@ﬂ}fﬁ W%Wﬁm / Remove impurities as slag
D) 'J-@WFWTH:T §glHT / Increase furnace temperature

124.7g 1A &1 YUl 2N ST AFG MHR F1 8?7 /
What is the standard size of a full sheet of mild steel?
A) 1220 0T x 2440 T /1220 mm x 2440 mm
B) 1219 At x 2438 fB#f / 1219 mm x 2438 mm
€) 1500 f&Ht x 3000 Bt / 1500 mm x 3000 mm
D) 2000 it x 4000 f&HT 7 2000 mm x 4000 mm

125. 779 B O 19-T 3= &1 U I YR &t ares o wrd § forar sme fore =gmaw
R (Tefferxon &1 sTa=aaar gRN? / Which of the following ropes would most likely
be used in a high-load capacity erection job requiring minimal elongation?

A)dR =T / Wire rope B) Riye Y& / Sisal rope

C)ﬂ:ﬁWT{'\‘:\){/ Manila rope D)WW/ Nylon rope
126.79 7 ¥ smaniia faggd 00 & o I diecsl WR HH-1 82 /

Which of the following is a common voltage level for residential electrical mains?

A)110d /110 V B) 220 dice / 220 V
C)320dlee /320 V D) 440 dlec / 440 V
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127.12t8 €@ IR WifoS g0 & o 904 BT IUTG G&dl IR &1 YHTd ISl 82 / How does the
choice between a tipped tool and a solid tool impact production efficiency?

A) TS go Tt I B ol ST &FdT e H3d § /
Solid tools provide faster production efficiency in all cases

B) Wifoe ¢@ &1 qol § 0 ¢o & 3ifie IR dqo- B 3Ta2uHdl BIdi § /
Tipped tools require more frequent tool changes than solid tools

C) fete v @Ra iqdiRd AT & BRUT 31 cara U A & /
Tipped tools offer faster efficiency due to quick insert replacement

D) fete €& iR Tifos ¢& & ola qardr  PIs Agayuf 3R T8l & /

No significant difference in efficiency between tipped and solid tools

128. Urfiiep FRifdbedt & o , 39 So & U Srg2ifid SU=R o1 S @10 3R a1 §
%ﬁo——rwﬁm@mﬁm%? / In the context of first aid, what is the recommended

treatment for a burn that is red and painful but does NOT blister?

A) TFEH 971 46 S / Apply butter or ol

B) ﬁ@%ﬁﬂ@f@%/ Cover with dry dressing
C) e S ST / Apply ice directly
D)'ci@tl'l:ﬁffgﬁﬁ"q/ Immerse in cold water

129. 7% AfET H, T RS & Tare & Jay H o1 Jraurt ska-1 a1fe? / In gas welding,

what is an essential precaution to take regarding the handling of gas cylinders?

A)aat{crqﬁnﬁ:rs‘fa‘r%wv@w@s% / Leave cylinders open when not in use
B) afeeT & fot foreht ot TpR & 711 Rychex 1 ST Y /

Use any type of gas cylinder for welding
C) forr forelt wraeit & RISSA B R &b SR W /

Store cylinders indoors without any precautions

D) Rt I e T 3R THf § gR T / Secure cylinders upright and away from heat

130. 979 Tt a¥q 1 IS G- 38 & $9ad a6 W Yafud a1 orar g @ iy UeR &1
AT YT faT STTaT 82 / What type of projection is used when the object is projected
onto a plane perpendicular to its principal axis?

A) BRI U&YUT / Isometric projection
B) GED U H&TT / Orthographic projection
C) uiRue&g g&ygur / Perspective projection
D) 3{&ffBifcieh Y&TUT / Axonometric projection
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131.5H0 R & gReRefesd Ve & Jay §f Fufofed o @ &1 91 sy I T8l 87 /
Which of the following is NOT TRUE with regards to hydrostatic lubrication of journal
bearings?

A) TR CH Gl oMo [l &I S18<l qaTagad foaiey ot HeT smar gl /

Hydrostatic lubricated journal bearings are also called externally pressurized bearings

B) BIgSefes faaR &l w-fharite el «ff serSmar g1 /
Hydrostatic bearings are also called self-acting bearings

C) TRERCICH Gl ReH 10 TG [N 30 SRS ISRHNN® THHEN B go-l |
TEN B €1/ Journal bearings with hydrostatic lubricated systems are costlier than
their hydrodynamic counterparts

D) g3s e foufig & uRfires oefur =€t gYari /

Hydrostatic bearings don't possess starting friction

132.f99 ¥ O gefo ufthan & mreom § Janfed 41g &1 Ud qoref SF-I1 82 / Which of the
following is a key property of the metal produced through the puddling process?
A) 3= FAISTUA / High ductility
B) 3= HRdT / High brittleness
C) 9 1% / Low melting point
D) 3 &Rl ufeRie / High corrosion resistance

133. Fafofea & ¥ o1 I urg 318 & Nea-iiaRu § Afhthzre THe @@l tHe) & ®u i
JUTNT &1 STl 82 / Which of the following metals is used as a sacrificial anode in
galvanization of iron?

A) ST (1) / Zinc B) A&l (@BTWR) / Copper
C)?ﬂa&[ / Carbon D)]%IW:[ / Silicon

134.30faeed SR T AfcsT & JReM & foU $ TN 91 Bl ¢ | Iofacd dfceT & [T HIH-
ﬂ'@'ﬁ'{dﬁ?&ﬂ HIaYT! sRa-! AMfgu? / Electric and gas welding each have specific safety
considerations. What is a critical safety precaution specific to electric welding?
A)ﬁgmﬁmﬂﬁ / Use a gas mask

B) ORI YU &1 I=HT UG / Always wear sunglasses
o1 o1 ufRfufaai § & B3 / Work in wet conditions

D) H2H &1 3frd ardfén (lﬁ'm ﬁﬁf&lﬁﬁ/ Ensure proper machine grounding
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135. U WA IR-SGS 1S TP P SIde] B! GRS HRd g 99 & § HH-I1 T ugd
faarufia fiig 82 / Which of the following is a key consideration when adjusting the jaws
of an independent four-jaw chuck?

A) \_ﬂ@[ DI 3D MYHTH &l db H / Tighten jaws to their maximum capacity
B) STUd HIrul & foU TS ag P Wad U I FHEINIT BN /

Adjust each jaw independently for proper centering
C) Ide o fou Ul 1 We &I IR-IR gHY /

Rotate the back plate frequently for balance

D)W IR Y EIB@F IPH B! [AoTIH T T B / Clean the chuck with solvents before

each use

136. HighaA # fafid TSR & U1 SIS), S 9 OilS, 3U Sig 3R BIR SIS &1 SUTNT faa
ST 81 U Siie &1 e fa=IvdTd o1 § 31R S9! JMad: SUAnT adf far SirdT 82 /
Different types of metal joints, like butt joints, lap joints, and corner joints, are used in
fabrication. What are the main features of a lap joint, and why is it commonly used?

A) T gHS! Bl SHRSY (3ifTeaiiid) el &, TRRAT BT S 6 /
Overlaps two pieces, easy to align
B) §S T8 &7 & fOU SN &l B, Holgd 3R RR /

Overlaps for larger surface area, strong and stable

C) Ith TGN BT Ta=THdT Bidl 5, AT BT BT glaT g /

Requires precise alignment, difficult to fabricate

D)% d® Jollde & & IUGNT faar AT 8 / Used only for decoration

137.%@3ﬁ@ﬁm@%€@%%’2 / Which one of the following is a rigid drive?

A)SeC §13d / Belt drive B) o1 §13d / Chain drive
C)30U $13d / Rope drive D) f1ER §184 / Gear drive

138. 3Te3 I ® Yune! §, ford UR &1 59 J- Ucdel Hifads Sudh & fomT el (@@ ST
Wﬁﬁ%ﬁm%? / In a hydraulic system, which type of fluid coupling ensures
torque transmission without direct physical contact?

A) BT28Ifd® 39 / Hydraulic clutch
B) Uilvifed ¥ / Positive clutch
C) gifi® &4 / Mechanical clutch

D) f[dggada®d 94 / Electromagnetic clutch
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139. 9 Q139 § Ugad dee Uerd o FafeRad & o 1 ais-g qored 87 /

Which of the following is a desirable property of a belt material used in a belt drive?

A) € Terd H got & A1y gy $T I[UNd HH g1 a1ey /

The belt material should have low coefficient of friction with the pulleys
B) See U # I a1 I gt =i /

The belt material should have a high tensile strength
C) see gerd d %A g wfRiy g1 =nfgu /

The belt material should have low wear resistance

D) ¥ Ufda® U g9 & foT dec g €¢ g1 a1fgl /

The belt material should be rigid to avoid bending stresses

140.Fufefaa & ¥ o O fFRUy T F1 ISP 8?7/

Which of the following is the Sl unit of absolute viscosity?

A)Nm¥/s B) Ns/m?
C)Ns/m D)Nm/s

141,79 B ¥ SF-I u1g 3ro18 AT A § SR ARy &0 I Jemor uferiy &t srazgesar are
&IECR?ﬁTﬁ o IUTNT BT SR 82 / Which of the following metals is considered non-ferrous

and typically used in applications requiring resistance to corrosion?

A)Fﬁ@T/ Copper B) =l BIgT/ Cast iron
C)Id / Steel D)ﬁ?ﬁﬁf’ﬁ_ﬂ/ Wrought iron

142,799 7 9 - iR &) G161 & JHT dec DI HIA T1 10T B $I AN o & fog
SSIER foaT a1 82 / Which of the following pulleys is designed to allow the belt to be
tightened or loosened during operation?

A) 319 fe=eT / Solid pulley B) fautfora fere1 / Split pulley
C) ot Al / Loose pulley D)Sileh! feReT / Jockey pulley

143, 3MRNE ST § W &I o1 8 TegHI-aH &1 ITANT $H3- & IS o1d e § 9

DHIF-TT %? / Which of the following is a primary advantage of using aluminium over
steel in industrial applications?

A) HH HR / Lower weight

B) 98k HRIHfSfGEl / Better machinability

C) 31feIp F&RUT UfaRIY / Greater corrosion resistance
D) 3=dX a4 A / Higher tensile strength

144. Frge 31 UfshaT & THT T HAST He! H [HR: HIF-3 draH= T §-1Y & i

87/ What is the typical temperature range maintained in a cupola furnace during the
melting process?

A) 800 - 900°C B) 1000 - 1100°C
C) 1200 - 1300°C D) 1500 - 1600°C
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145. QMg YA fie f$@ RIS auh) & fou oM fofg v 8, ik ag Siur {3
CELE) DI HY YHTFAd BT 8?7 / What is the standard point angle for a general-purpose
twist drill, and how does this angle affect drilling?

A) 60°, TRH It & T ITga § /

60°, suitable for soft materials

B) 90°, Tdleh & & fou amezi § /

90°, ideal for precision drilling
C) 118°, HTe 3R foy gem H Ugod a1 g /
118°, balancing cutting and chip removal
D) 135°, FTe &1 q&idl & g Fa1 8 /

135°, enhancing cutting efficiency

146.HH-T1 2eq T ISH W WA [4gafl & stg o1 gl &1 Ui HRl &, ol ¥ e &
JHMIAR AT ST 87 / What term describes the distance between corresponding points
on adjacent threads, measured parallel to the screw axis?
A)IIS / Lead B) fi= / Pitch
C) S (TTEXT3) / Depth D) STHIeR (&) / Diameter

147.30e yig & § g% T & fou fafdw sz e g2/

What is the typical specification for hand grooves in sheet metal work?

A)0.5 ﬁITﬂTIET[/O.S mm deep B) 1 WTI_ERTH mm deep
) 10 fHHI 781/ 10 mm deep D)2 - 5 T &R/ 2 - 5 mm deep

148, fHRY 3R WRE Al § Fued 9o f6¥ TR & %™ Ug=H a1fdu? / When
dealing with sharp edges and rough materials, what type of gloves should be worn?
A) WIRES / Plastic
B) Xdg / Rubber
C) geh] hUNY / Lightweight cotton
D)dHST Al et HUSI / Leather or thick fabric

149. %G1 HE!, fUae™ & U 3a=ad W1 SMd B 8q Y T SU BT FUIRT Bt

%?/ What is the main fuel a cupola furnace uses to generate the necessary heat for

melting?
A)BIH / Coke B) @@l / Wood
C) P! B BB / Charcoal D) UTghfae % / Natural gas

150, FAfeRId & @ 1 Gag TR TH-1d # 9cd B! T 1 TRE 7eqd § I
ZEISH & Juds B ST ST 82 / Which of the following surface modification
techniques consists of exposing the component to nascent nitrogen in a gaseous or
liquid medium?

A)W“{ﬂ%ﬁﬂ / Flame hardening B) EI’TIEi;\"IE‘i\;ri"T/ Carburizing
C)QBEA'IE'%“T / Nitriding D) THIAT / Tempering
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QUESTION BOOKLET SERIES C SUBJECT CODE M F | O 1

[ Do not open this question booklet until asked to do so. ]

INSTRUCTIONS TO CANDIDATE

1. Fill up the necessary information in the space provided on the cover of Question Booklet and

the Answer Sheet before commencement of the test.
The duration of the test is 2 Hour. There are 150 questions.

3. You will not be allowed to leave the examination hall till the exam gets completed.
This booklet contains 36 Pages. Please check for completeness of the Question Booklet
immediately after opening.

5. No spare Question Booklet or Answer Sheet will be provided. Do not make mistakes.
Replacement will NOT be provided under any circumstances.

6. Each question has four answer options marked (A), (B), (C) and (D). Answers are to be marked
on the Answer Sheet, which is provided separately.

7. Choose the most appropriate answer option and darken the circle completely, corresponding
to (A), (B), (C) or (D) against the relevant question number.

8. Use only Blue/Black Ball Point Pen to darken the circle for answering.

9. Please do not darken more than one circle against any question, as scanner will read such
marking as wrong answer.

10. Once an oval is darkened as answer to the question, it is final. Answers option once darkened
cannot be changed.

11. Each question carries one mark. There is NO Negative Marking.

12. Rough work, if any, is to be done on the Question Booklet only. No separate sheet will be
provided/used for rough work.

13. Calculator, Mobile, etc., are not permitted inside the examination hall.

14. Candidates seeking, receiving and/or giving assistance during the test will be disqualified.

15. Do not seek clarification on any item in the Question Booklet from the test invigilator. Use
your best judgment.

THIS QUESTION BOOKLET AND OMR ANSWER SHEET ARE TO BE RETURNED ON COMPLETION OF THE TEST.

Please fill in the following details using ball point pen.

Roll No.

Name Signature
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(MFI) Attendant Gr-1 (Mech)- Fitter - Version C

Question Answer Question Answer Question Answer
No keys No keys No keys
1 D 51 A 101 D
2 B 52 B 102 D
3 C 53 D 103 C
4 A 54 D 104 D
5 B 55 D 105 A
6 D 56 D 106 C
7 D 57 B 107 A
8 C 58 B 108 C
9 D 59 D 109 A
10 B 60 B 110 C
11 A 61 B 111 B
12 A 62 C 112 C
13 A 63 D 113 B
14 D 64 A 114 B
15 C 65 A 115 D
16 D 66 A 116 C
17 C 67 D 117 C
18 A 68 C 118 D
19 B 69 A 119 D
20 C 70 B 120 B
21 A 71 B 121 D
22 D 72 B 122 C
23 C 73 B 123 C
24 A 74 C 124 B
25 A 75 A 125 A
26 D 76 C 126 B
27 C 77 D 127 C
28 C 78 C 128 D
29 D 79 C 129 D
30 A 80 B 130 B
31 B 81 C 131 B
32 C 82 D 132 A
33 D 83 B 133 A
34 B 84 A 134 D
35 C 85 B 135 B
36 C 86 C 136 B
37 B 87 A 137 D
38 C 88 C 138 A
39 A 89 B 139 B
40 B 90 D 140 B
41 D 91 C 141 A
42 B 92 A 142 D
43 D 93 A 143 A
44 C 94 C 144 D
45 B 95 A 145 C
46 D 96 B 146 B
47 A 97 B 147 D
48 C 98 C 148 D
49 A 99 D 149 A
50 A 100 B 150 C
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